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Research and Implementation of Program Code
Similarity Measurement

YU Hai-ying

(College of Computer Information Management, Inner Mongolia Finance and Economics College, hohhot 010070)

Abstract Aiming at the problem of program code similarity measurement, a combined method of attribute counting and structure metrics is
proposed. Attribute counting produces Halstead length, Halstead vocabulary and Halstead volume which constitute feature vector by counting the
operator and operand of program source code, and attribute similarity can be calculated by using the cosine of vector included angle. The longest
common subsequence algorithm is used to obtain structure similarity. The similar degree between two programs can be measured with the two
similarities. Experimental results show the method can effectively detect similar programs of the students” homework.
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